@ 22x10






3. O3 SRS "Rt 542 Hhate] AlLtstolgt,
(=79) + (+17) 4+ (-21)

e =
=%






5. 1-3+42-4+5-7+6-8+9-11 & AXtstH?

O -7 ® -8 B3 -9 @ -10 B -11



=S
—

43+ x2 -2 oA B

4]

o

6.

B 4

@ 2



7. HeF Aol otd A2?
@® 4x+2x=3x+5x @ 5x-3=x(x—4)
® 14+2+3=2x(T-4) @ 3(x-3)=2(x-2)

® 3x+4-2(x-1)+x



® (1, -4)F At
@ x ol ghol F7FetR y o] 7k F7HRteh,
B y = 4x 9] Iz} uhdct



@ 60=3x4x%x5

=922 x 32

® 36

@ 105=3x5x%x7

® 98=2xT7?

3 120 = 23x3x5



% A% a b ) A4S} 46 L 1), L F a b o] TS

23, 46, 52, 60, 70, 92, 138, 184

o e
=
g

(o)
Rl



@+ - -+ @+, + - - @ + -+ -



12. o 4] (2a-3) - (-3a + 3) & 73]

Sk AL9
® a-6 @ -a ® 5a-6
@ 5a

® —-a-6



O x+2=0

-6

@ 3x

© 2x-4=0




14. g 5 P4 A BE x— 29 W), a2 - 52 O] g Ffedel,

2x-4 Hx-4

X
2=4 9 -
ax + X+ 9, 3 5 6

e
=



15. oi" Z'\—x?J 2ufHch2 2 4E
[lﬂ X = 3]—7] Ho]— K]OE H].E

@O 2x+2=3(x-13)
® 2x+3=3x+2

® 2x=3x+1

o] £~o] 3ujj K} 3 whE

129

@ 2(x+2)=3x-3

@ 2x+2=3x-3

A
2l

oo

2



mj



17. 7129 Zol7F 8em, Al22] Zol7k xem Q] AAMZFR o] E&9] Aol7t
28 cmo|t}, o] wj A|29] Ho] x & t5toizt,

aﬂix: cm



18.

) 1
xo W73 < x <129 o, 3 °

a<y<bo|th ol o, q,b9] F2?

D a=-1,b=-1
® a=-3,b=-2

® a=-4,b=-3

M
)
1o
o
do
rir



f(x) =

SE~
o=

1

x9 ghol -2,-1,0,1,2%

19.

® 1 3 2 @ 3 B 4

D 0



y = ax(a #0) 2] 2 Lo et oh5 A T &A1 92 A7

® 9HE WEA ALhe 2 Ho]e,
@ a>09 ), A 1,34 L A H 4o},

® a <09 W, xglol S715HR yghe Fashs 4ol
@ y = —ax ] TP} 5 Aol A whyitt.

® a7t AAT Hu|d e mol}.



